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01234-$)5$6$7/89:$;34<8=-$
8:$>?@31A-<B$1<$CD-$
E-:D-4/8<A95$$
>:$39-9$=FG-$:F$4-A3=-$
14F<$F4-$1<:F$14F<5$CD-$
H84-<:$=F@H8<I$19$H84:$
F;$J,KLMB$8$24F3H$
1<.-9:128:1<2$DFN$:F$
=8H:34-$:D-$-@1991F<9$
;4F@$:D-$7/89:$;34<8=-$
8<A$DFN$:D-$-<:14-$
H4F=-99$@12D:$7-$
-/-=:41;1-A$:D4F32D$:D-$
39-$F;$-/-=:4F/I919$48:D-4$
:D8<$=D-@1=8/$4-A3=:1F<5$
ODF:F$P$M.AF/-<5$

!"#$%&'(")#"*()&'+,'("-.*)$&
CD-$1<A39:4I$9-=:F4$1<=/3A-9$:D-$@8<3;8=:34-$
F;$@-:8/9B$@1<-48/9B$8<A$F:D-4$=D-@1=8/95$><$
+""%$1<A39:4I$N89$4-9HF<917/-$;F4$87F3:$+(Q$F;$
:F:8/$JR$-<-42I$A-@8<A5$><$8AA1:1F<$:F$
-@1991F<9$;4F@$:D-$-<-42I$39-AB$:D-$9-=:F4$8/9F$
-@1::-A$+'$S:KL+-$A14-=:/I$;4F@$1:9$H4F=-99-95$
*&Q$F;$1<A39:418/$-<-42I$A-@8<A$N89$;F4$289B$
+'Q$N89$;F4$-/-=:41=1:IB$N1:D$:D-$4-9:$;4F@$F1/B$
=F8/$8<A$A19:41=:$D-8:1<25$$
$
><$:D-$+"("$K8/=3/8:F4$:D-$1<A39:418/$9-=:F4T9$
;3:34-$-<-42I$39-$19$A-:-4@1<-A$7I$:NF$;8=:F49U$
1<A39:4I$-<-42I$1<:-<91:I$VA-9=417-A$D-4-W$8<A$
1<A39:4I$24FN:D$VA-9=417-A$F<$8<F:D-4$H82-W5$
$
!"#"$%&%
,-.-/$)$8993@-9$:D8:$:D-4-$19$<F$N1A-9H4-8A$
A-H/FI@-<:$F;$=847F<$=8H:34-$8<A$9:F482-$
VKKMW$F4$;3-/$9N1:=D1<2X$:D8:$H4F=-99$-@1991F<9$
4-@81<$=F<9:8<:X$8<A$:D8:$:D-4-$19$8$)"Q$
4-A3=:1F<$1<$-<-42I$1<:-<91:I$7-:N--<$+""%$
8<A$+"("5$
$
!"#"$%'%
,-.-/$+$8993@-9$8$+"Q$1@H4F.-@-<:$1<$-<-42I$
1<:-<91:IX$:D8:$!"Q$F;$1<A39:418/$-<-42I$A-@8<A$
19$;F4$-/-=:41=1:IX$8$*"Q$4-A3=:1F<$1<$H4F=-99$
-@1991F<9$H-4$3<1:$F;$F3:H3:X$8<A$:D8:$)"Q$F;$
-@1991F<9$84-$=8H:34-A$:D4F32D$KKM5$
$

!"#"$%(%
,-.-/$*$8993@-9$:D-4-$19$8$!"Q$1@H4F.-@-<:$1<$
-<-42I$-;;1=1-<=I$8<A$8:$/-89:$8$+(Q$8.-482-$
4-A3=:1F<$1<$H4F=-99$-@1991F<$1<:-<91:I5$&&Q$F;$
-<-42I$A-@8<A-A$19$;F4$-/-=:41=1:I5$KKM$19$4F//-A$
F3:$Y31=G/I$8;:-4$+"+($8<A$7I$+"("$87F3:$D8/;$
F;$1<A39:418/$-@1991F<9$84-$=8H:34-A$V1<=/3A1<2$
'"Q$F;$-@1991F<9$;4F@$9:--/B$8@@F<18$8<A$
=-@-<:$H/8<:9W5$

)*+",-.+/0*%1/+2%0+2",%.20/."3%
CD-$=F8/B$289$8<A$F1/$39-A$7I$1<A39:4I$=F3/A$7-$
4-H/8=-A$N1:D$71F-<-42I5$CF$AF$:D19$1<$:D-$+"("$
K8/=3/8:F4B$9-/-=:$71F-<-42I$1@HF4:9B$F4$=DFF9-$
:F$A-A1=8:-$/8<A$:F$71F@899$8<A$:F$:34<$:D8:$
71F@899$1<:F$9F/1AB$/1Y31A$F4$289-F39$71F;3-/5$
$
CD-4-$19$912<1;1=8<:$A-@8<A$;F4$=847F<$A1FZ1A-$
VKL+W$:48<9HF4:$1<;489:43=:34-$8<A$9:F482-$
=8H8=1:I$1<$:D4--$9-=:F49U$1<A39:4IB$=847F<$
=8H:34-$8<A$9:F482-B$8<A$2-F9-Y3-9:48:1F<5$
K8/=3/8:F4$39-49$@8I$N19D$:F$=F<91A-4$:D-9-$
FH:1F<9$:F2-:D-4$:F$:8G-$8$.1-N$F<$ND-:D-4$:D-$
:F:8/$A-@8<A$;F4$KL+$:48<9HF4:$8<A$9:F482-$
1<;489:43=:34-$19$;-8917/-5$
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8993@1<2$:48?-=:F4I$6$
;F4$1<A39:4I$24FN:D$


